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Inserções em Árvore AVL
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Inserções em Árvore AVL
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Rotação LR
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Rotação LR – altura dos nós
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Rotação LR – altura dos nós
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Rotação LR – balanceamento
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Rotação LR – balanceamento
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Rotação LR – balanceamento



  

Rotação LR – código
PONT rotacaoL(PONT p){ 
 PONT u, v; 
 u = p->esq; 
 if (u->bal == 1) {  // LR 
  v = u->dir; 
  u->dir = v->esq; 
  v->esq = u; 
  p->esq = v->dir; 
  v->dir = p; 
  if(v->bal == -1) p->bal = 1; 
  else p->bal = 0; 
  if(v->bal == 1) u->bal = -1; 
  else u->bal = 0; 
  v->bal = 0; 
  return v; 
 } 
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